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QUESTION 1

Which two are required parameters to create a public load balancer instance? (Choose two.) 

A. certificate 

B. load balancer name 

C. listener 

D. back end set 

E. two public subnets 

Correct Answer: DE 

Reference https://docs.cloud.oracle.com/iaas/Content/Balance/Concepts/balanceoverview.htm 

 

QUESTION 2

You are the Solutions Architect of a large company and are tasked with migrating all your services to Oracle Cloud
Infrastructure. As part of this, you first design a Virtual Cloud Network (VCN) with a public subnet and a private subnet.
Then in order to provide Internet connectivity to the instances in your private subnet, you create an Oracle Linux
instance in your public subnet and configure NAT on it. However, even after adding all related security list rules and
routes in the Route Table, your private subnet instances still cannot connect to the Internet. 

Which action should you perform to enable Internet connectivity? 

A. Disable "Source and Destination Check" on the VNIC of your Linux instance. 

B. There is no way that a private subnet can connect to the Internet. 

C. Create a Dynamic Routing Gateway (DRG) and route your private IP traffic to the DRG. 

D. Restart the NAT instance. 

Correct Answer: A 

 

QUESTION 3

Where is the tenancy Oracle Cloud Identifier (OCID) located? 

A. given by support on account creation 

B. at the bottom of every console page 

C. on the Identity ?Users page 

D. contained within the compartment OCID 

Correct Answer: B 
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Reference: https://docs.cloud.oracle.com/iaas/Content/General/Concepts/identifiers.htm#two 

 

QUESTION 4

Which five are the required parameters to launch an instance in Oracle Cloud Infrastructure? (Choose five) 

A. subnet 

B. Availability Domain 

C. Virtual Cloud Network 

D. host name 

E. instance shape 

F. image operating system 

G. private IP address 

Correct Answer: ABCEF 

Reference: https://docs.cloud.oracle.com/iaas/Content/Compute/Concepts/computeoverview.htm 

 

QUESTION 5

Which two configuration formats does Terraform support? (Choose two.) 

A. YAML 

B. JSON 

C. HCL 

D. XML 

Correct Answer: BC 

Reference: https://docs.cloud.oracle.com/iaas/Content/API/SDKDocs/terraformconfig.htm 
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